

# Non-commutative quantum dynamics in N dimensions

Autor(en): **Chung, W.-S.**

Objektyp: **Article**

Zeitschrift: **Helvetica Physica Acta**

Band (Jahr): **70 (1997)**

Heft 3

PDF erstellt am: **11.07.2024**

Persistenter Link: <https://doi.org/10.5169/seals-117025>

## **Nutzungsbedingungen**

Die ETH-Bibliothek ist Anbieterin der digitalisierten Zeitschriften. Sie besitzt keine Urheberrechte an den Inhalten der Zeitschriften. Die Rechte liegen in der Regel bei den Herausgebern.

Die auf der Plattform e-periodica veröffentlichten Dokumente stehen für nicht-kommerzielle Zwecke in Lehre und Forschung sowie für die private Nutzung frei zur Verfügung. Einzelne Dateien oder Ausdrucke aus diesem Angebot können zusammen mit diesen Nutzungsbedingungen und den korrekten Herkunftsbezeichnungen weitergegeben werden.

Das Veröffentlichen von Bildern in Print- und Online-Publikationen ist nur mit vorheriger Genehmigung der Rechteinhaber erlaubt. Die systematische Speicherung von Teilen des elektronischen Angebots auf anderen Servern bedarf ebenfalls des schriftlichen Einverständnisses der Rechteinhaber.

## **Haftungsausschluss**

Alle Angaben erfolgen ohne Gewähr für Vollständigkeit oder Richtigkeit. Es wird keine Haftung übernommen für Schäden durch die Verwendung von Informationen aus diesem Online-Angebot oder durch das Fehlen von Informationen. Dies gilt auch für Inhalte Dritter, die über dieses Angebot zugänglich sind.

# Non-Commutative Quantum Dynamics in N Dimensions

By W-S. Chung

Department of Physics and Research Institute of Natural Science,  
Gyeongsang National University,  
Tinju,660-701,Korea

(20.III.1996)

*Abstract.* In this paper the  $q$ -deformation of the N-dimensional quantum dynamics is described. This theory is shown to be consistent only when the deformation parameters satisfy the special relation

Since the non-commutative plane ( so called quantum plane ) [1] was introduced to the theoretical physics world , many theoretical physicists have been attempting to build up physical models based on this type of non-commutative geometry. The reference [2],[3] and 4] governs one dimensional quantum dynamics only. In commutative plane we can easily extend the results obtained in one dimension to more general cases - those in N dimensions. However it is not the case in quantum plane. In this paper we extend the result given in ref 4] to the N- dimensional case.

Now we build up the non-commutative quantum dynamics in N dimensions. Manin [5] showed that the quantum space is defined as the quotient of a non-commutative algebra by the two sided ideal. Arafé'va and Volovich [2] introduced the non-commuting mass to discuss the one dimensional quantum dynamics.

Now we formulate the non-commutative quantum dynamics in N dimensions by means of the  $q$ -deformation of the algebra of observables;  $q$ -deformed algebra  $H$  is assumed to be a quotient algebra of free algebra  $A$  by the two-sided ideal  $J$ ;

$$H = A(I, x_1, \dots, x_N, p_1, \dots, p_N, \Lambda_1, \dots, \Lambda_N, K_1, \dots, K_N)$$

$$\text{mod } J(I, x_1, \dots, x_N, p_1, \dots, p_N, \Lambda_1, \dots, \Lambda_N, K_1, \dots, K_N),$$

where the two-sided ideal  $J$  is defined by the following Bethe ansatz

$$x_i p_i = q^2 p_i x_i + i \hbar q \Lambda_i^2 + \lambda \sum_{j=i+1}^N x_j p_j, \quad (1)$$

$$x_i p_j = q p_j x_i, \quad (i \neq j) \quad (2)$$

$$x_i x_j = q^{-1} x_j x_i, \quad (i < j) \quad (3)$$

$$p_i p_j = q p_j p_i, \quad (i < j) \quad (4)$$

$$x_i \Lambda_j = \xi_{ij} \Lambda_j x_i, \quad (5)$$

$$p_i \Lambda_j = \sigma_{ij} \Lambda_j p_i, \quad (6)$$

$$x_i K_j = \tau_{ij} K_j x_i, \quad (7)$$

$$p_i K_j = \epsilon_{ij} K_j p_i, \quad (8)$$

$$\Lambda_i K_j = \eta_{ij} K_j \Lambda_i, \quad (9)$$

$$\Lambda_i \Lambda_j = \Lambda_j \Lambda_i, \quad (10)$$

$$K_i K_j = K_j K_i, \quad (11)$$

where  $\lambda = q^2 - 1$  and  $\Lambda_i$  and  $K_i$  are assumed to be additional hermitian generators of the extended non-commutative algebra in  $N$  dimensions.

From eq.(5) and eq.(6) with  $j = i$ , we have<sup>1</sup>

$$x_i \Lambda_i = \xi_i \Lambda_i x_i, \quad (12)$$

$$p_i \Lambda_i = \sigma_i \Lambda_i p_i. \quad (13)$$

Multiplying eq.(13) by eq.(12), side by side, and using eq.(5) and eq.(6) leads to

$$x_i p_i \Lambda_i^2 = (\xi_i \sigma_i)^2 \Lambda_i^2 x_i p_i. \quad (14)$$

Similarly, Multiplying eq.(12) by eq.(13), side by side, and using eq.(5) and eq.(6) leads to

$$p_i x_i \Lambda_i^2 = (\xi_i \sigma_i)^2 \Lambda_i^2 p_i x_i. \quad (15)$$

Subtracting eq.(15) multiplied by  $q^2$  from eq.(14), we obtain the following two relations;

$$\sigma_i \xi_i = 1, \quad (16)$$

$$\sigma_{ji} \xi_{ji} = 1, \quad (j > i). \quad (17)$$

Multiplying eq.(6) by eq.(5), side by side, and using eq.(5) and eq.(6), we obtain

$$x_i p_i \Lambda_j^2 = (\sigma_{ij} \xi_{ij})^2 \Lambda_j^2 x_i p_i, \quad (18)$$

<sup>1</sup>Here we adopted the following notation;  $A_{ii} = A_i$ , for  $A = \xi, \sigma, \tau, \epsilon$  and  $\eta$ .

$$p_i x_i \Lambda_j^2 = (\sigma_{ij} \xi_{ij})^2 \Lambda_j^2 p_i x_i, \tag{19}$$

Subtracting eq.(18) multiplied by  $q^2$  from eq.(19), we get

$$\sigma_{ij} \xi_{ij} = 1, \quad (i \neq j). \tag{20}$$

Then the eq.(16), eq.(17) and eq.(20) are expressed by the following one relation;

$$\sigma_{ij} = \xi_{ij}^{-1}. \tag{21}$$

The next step is to determine  $\tau_{ij}$ ,  $\epsilon_{ij}$  and  $\eta_{ij}$  in terms of  $\xi_{ij}$ . From the two relations

$$x_i \Lambda_i = \xi_i \Lambda_i x_i,$$

$$p_i K_i = \epsilon_i K_i p_i,$$

we get the following two equations;

$$x_i p_i \Lambda_i K_i = \epsilon_i \tau_i \Lambda_i K_i x_i p_i, \tag{22}$$

$$p_i x_i K_i \Lambda_i = \epsilon_i \tau_i K_i \Lambda_i p_i x_i. \tag{23}$$

Subtracting eq.(23) multiplied by  $q^2$  from eq.(22) and using  $\Lambda_i K_i = \eta_i K_i \Lambda_i$ , we obtain

$$\eta_i = \sqrt{\epsilon_i \tau_i} \tag{24}$$

$$\eta_i^2 = \epsilon_{ji} \tau_{ji}, \quad (j > i). \tag{25}$$

From the two relations

$$x_i \Lambda_i = \xi_i \Lambda_i x_i,$$

$$p_i K_j = \epsilon_{ij} K_j p_i,$$

we have

$$\eta_{ij} = \sqrt{\epsilon_{ij} \tau_{ij}}, \tag{26}$$

$$\eta_{ij} = \sqrt{\epsilon_{kj} \tau_{kj}} \quad (k > i). \tag{27}$$

From the two relations

$$x_i \Lambda_j = \xi_{ij} \Lambda_j x_i,$$

$$p_i K_i = \epsilon_i K_i p_i,$$

we have

$$\eta_i = \sqrt{\epsilon_{ji} \tau_{ji}}, \quad (j > i). \tag{28}$$

Consider the following extended Hamiltonian

$$H = \sum_{i=1}^N p_i^2 K_i^2 + V(x_1, K_1, \Lambda_1, \dots, x_N, K_N, \Lambda_N). \tag{29}$$

Now we demand that all  $\Lambda_i$ 's and  $K_i$ 's are constant of motion;

$$\dot{\Lambda}_i = \frac{i}{\hbar} [H, \Lambda_i] = 0, \tag{30}$$

$$\dot{K}_i = \frac{i}{\hbar}[H, K_i] = 0. \quad (31)$$

First let us restrict our concern to the free theory ( $V = 0$ ). Then eq.(30) and eq.(31) give

$$\sigma_{ij} = \eta_{ji}, \quad \text{for all } j. \quad (32)$$

$$\epsilon_{ji} = 1, \quad \text{for all } i, j. \quad (33)$$

Therefore we get

$$\xi_{ij} = \xi_i, \quad \text{for } i < j, \quad (34)$$

$$\xi_{ji} = \xi_j, \quad \text{for } i < j, \quad (35)$$

$$\tau_{ij} = \tau_j = \xi_j^{-2}, \quad (i < j), \quad (36)$$

$$\tau_{ji} = \tau_i = \xi_i^{-2}, \quad (i < j), \quad (37)$$

$$\eta_{ij} = \xi_j^{-1}, \quad (i < j), \quad (38)$$

$$\eta_{ji} = \xi_i^{-1}, \quad (i < j), \quad (39)$$

If we summarize all the results, we obtain

$$x_i \Lambda_j = \xi_i \Lambda_j x_i, \quad (40)$$

$$p_i \Lambda_j = \xi_i^{-1} \Lambda_j p_i, \quad (41)$$

$$x_i K_j = \xi_j^{-2} K_j x_i, \quad (42)$$

$$p_i K_j = K_j p_i, \quad (43)$$

$$\Lambda_i K_j = \xi_j^{-1} K_j \Lambda_i, \quad (44)$$

$$\Lambda_i \Lambda_j = \Lambda_j \Lambda_i, \quad (45)$$

$$K_i K_j = K_j K_i, \quad (46)$$

Now let us consider the general case with the non-vanishing potential term; Then, in order to make  $\Lambda_i$ 's and  $K_i$ 's remain constant of motion, we demand that the potential  $V$  should commute with  $\Lambda_i$ 's and  $K_i$ 's, which results in the following scale invariant properties of the potential;

$$\begin{aligned} & V(\xi_1 x_1, \xi_1 K_1, \Lambda_1, \dots, \xi_k x_k, \xi_k K_k, \Lambda_k, \dots, \xi_N x_N, \xi_N K_N, \Lambda_N) \\ &= V(x_1, K_1, \Lambda_1, \dots, x_k, K_k, \Lambda_k, \dots, x_N, K_N, \Lambda_N), \end{aligned} \quad (47)$$

$$\begin{aligned} & V(\xi_i x_1, K_1, \xi_i \Lambda_1, \dots, \xi_i x_k, K_k, \xi_i \Lambda_k, \dots, \xi_i x_N, K_N, \xi_i \Lambda_N) \\ &= V(x_1, K_1, \Lambda_1, \dots, x_k, K_k, \Lambda_k, \dots, x_N, K_N, \Lambda_N), \quad \text{for all } i = 1, 2, \dots, N. \end{aligned} \quad (48)$$

Finally we arrive at the Heisenberg equation of motion for non-commutative quantum dynamics in  $N$  dimensions;

$$\dot{x}_i = \frac{i}{\hbar}[H, x_i]$$

$$\begin{aligned}
 &= \left[ \frac{i}{\hbar} (\xi_i^4 - q^4) p_i^2 x_i + q(q^2 + \xi_i^2) p_i \Lambda_i^2 - \frac{i}{\hbar} \lambda (q^2 + 1) p_i \sum_{m=i+1}^N x_m p_m \right] K_i^2 \\
 &\quad + \frac{i}{\hbar} \sum_{k \neq i} (\xi_k^4 - q^2) p_k^2 x_i K_k^2,
 \end{aligned} \tag{49}$$

where we demand<sup>2</sup> that

$$\xi_i = \left( \prod_{j=1}^N \xi_j \right)^{\frac{1}{N}} q^{\frac{1}{N} (i - \frac{N+1}{2})}, \tag{50}$$

in order to impose the condition that

$$[V, x_i] = 0.$$

Similarly we can obtain the equation of motion for the momenta  $p_i$ 's;

$$\begin{aligned}
 \frac{\hbar}{i} \dot{p}_i &= [H, p_i] \\
 &= [\sum_{k=1}^N p_k^2 K_k^2 + V, p_i] \\
 &= \sum_{k=1}^{i-1} [p_k^2 K_k^2, p_i] + \sum_{k=i+1}^N [p_k^2 K_k^2, p_i] + [V, p_i] \\
 &= (q^2 - 1) p_i \sum_{k=1}^{i-1} p_k^2 K_k^2 \\
 &\quad + (q^{-2} - 1) p_i \sum_{k=i+1}^N p_k^2 K_k^2 + [V, p_i]
 \end{aligned} \tag{51}$$

If we use the following identity

$$\begin{aligned}
 x_i^{n_i} p_i &= q^{2n_i} p_i x_i^{n_i} + i\hbar q (\xi_i^2)^{n_i-1} [n_i]_{\left(\frac{q}{\xi_i}\right)^2} \Lambda_i^2 x_i^{n_i-1} \\
 &\quad + \lambda [n_i]_{q^2} x_i^{n_i-1} \sum_{j>i} x_j p_j,
 \end{aligned} \tag{52}$$

then the commutator between potential and momentum  $p_i$  is computed as

$$\begin{aligned}
 &[V, p_i] \\
 &= p_i \{ V(qx_1, \dots, qx_{i-1}, q^2 x_i, qx_{i+1}, \dots, qx_N) \\
 &\quad - V(x_1, \dots, x_{i-1}, x_i, x_{i+1}, \dots, x_N) \} \\
 &\quad + i\hbar q \Lambda_i^2 \frac{\partial}{\partial \left(\frac{q}{\xi_i}\right)^2 x_i} V(\xi_1 x_1, \dots, \xi_{i-1} x_{i-1}, \xi_i^2 x_i, qx_{i+1}, \dots, qx_N, ) \\
 &\quad + \lambda \sum_{j=i+1}^N x_j p_j \frac{\partial}{\partial q^2 x_i} V(x_1, \dots, x_{i-1}, x_i, qx_{i+1}, \dots, qx_N)
 \end{aligned} \tag{53}$$

where the derivation of eq.(53) is given in Appendix B and we write  $V$  as follows;

$$\begin{aligned}
 &V(x_1, \dots, x_n, \dots, x_N) \\
 &= V(x_1, K_1, \Lambda_1, \dots, x_n, K_n, \Lambda_n, \dots, x_N, K_N, \Lambda_N),
 \end{aligned}$$

---

<sup>2</sup>The derivation of the condition (50) is given in Appendix A

and the deformed partial derivative is given by

$$\begin{aligned} & \frac{\partial}{\partial_k x_i} V(x_1, \dots, x_i, \dots, x_N) \\ &= \frac{V(x_1, \dots, kx_i, \dots, x_N) - V(x_1, \dots, x_i, \dots, x_N)}{x_i(k-1)}. \end{aligned} \quad (54)$$

In this paper we discuss the N-dimensional quantum dynamics with some non-commuting extended variables. In order to get the unitary time evolution of observables we deformed the algebra of observables leaving Heisenberg equations as equations of motion unchanged. In time evolution of position, we had to demand that the deformation parameters,  $\xi_i$ 's, fulfill the special relation given in eq.(50). We hope that this procedure will be connected with the N-dimensional version of Arafé'va-Volovich model in the near future.

This paper was supported in part by NON DIRECTED RESEARCH FUND, Korea Research Foundation (1995) and the Present Studies were supported in part by Basic Science Research Program, Ministry of Education, 1996,(BSRI-96-2413).

## Appendix A

In this appendix we derive the eq.(50). Let us first start with

$$\begin{aligned} & V(\dots, x_k, K_k, \Lambda_k, \dots)x_i \\ &= x_i V(q^{-1}x_1, \xi_1^2 K_1, \xi_i^{-1} \Lambda_1, \dots, \\ & \quad x_i, \xi_i^2 K_i, \xi_i^{-1} \Lambda_i, qx_{i+1}, \xi_{i+1}^2 K_{i+1}, \xi_i^{-1} \Lambda_{i+1}, \\ & \quad \dots, qx_N, \xi_N^2 K_N, \xi_i^{-1} \Lambda_N) \\ &= x_i V(q^{-1} \xi_1^{-1} x_1, \xi_1 K_1, \xi_i^{-1} \Lambda_1, \dots, \\ & \quad \xi_i^{-1} x_i, \xi_i K_i, \xi_i^{-1} \Lambda_i, q \xi_{i+1}^{-1} x_{i+1}, \xi_{i+1} K_{i+1}, \xi_i^{-1} \Lambda_{i+1}, \\ & \quad \dots, q \xi_N^{-1} x_N, \xi_N K_N, \xi_i^{-1} \Lambda_N) \\ &= x_i V(q^{-1} \xi_1^{-1} \xi_i^2 x_1, \xi_1 K_1, \Lambda_1, \dots, \\ & \quad \xi_i x_i, \xi_i K_i, \Lambda_i, q \xi_{i+1}^{-1} \xi_i^2 x_{i+1}, \xi_{i+1} K_{i+1}, \Lambda_{i+1}, \\ & \quad \dots, q \xi_N^{-1} \xi_i^2 x_N, \xi_N K_N, \Lambda_N) \\ &= x_i V(q^{-1} \xi_1^{-2} \xi_i^2 x_1, K_1, \Lambda_1, \dots, \\ & \quad x_i, K_i, \Lambda_i, q \xi_{i+1}^{-2} \xi_i^2 x_{i+1}, K_{i+1}, \Lambda_{i+1}, \\ & \quad \dots, q \xi_N^{-2} \xi_i^2 x_N, K_N, \Lambda_N) \end{aligned}$$

Therefore, in order for the potential to commute with the coordinate, it should satisfy the following relations;

$$\begin{aligned} \xi_i &= \sqrt{q}\xi_j, \quad j = 1, 2, \dots, i - 1. \\ \xi_i &= \frac{1}{\sqrt{q}}\xi_j, \quad j = i + 1, \dots, N. \end{aligned}$$

Multiplying all the above mentioned relations leads to

$$\xi_i^N = (\prod_{k=1}^N \xi_k) q^{i - \frac{N+1}{2}}.$$

## Appendix B

In this appendix we prove the relation (53) for the monomials.<sup>3</sup> The general form of monomials is given by

$$V = \prod_k x_k^{n_k} K_k^{m_k} \Lambda_k^{l_k}$$

Then we have

$$\begin{aligned} & [\prod_k x_k^{n_k} K_k^{m_k} \Lambda_k^{l_k}] p_i \\ &= \prod_k x_k^{n_k} p_i K_k^{m_k} (\xi_i \Lambda_k)^{l_k} \\ &= (\prod_{k=1}^{i-1} x_k^{n_k}) (x_i^{n_i}) (\prod_{k=i+1}^N x_k^{n_k} p_i) \prod_k K_k^{m_k} (\xi_i \Lambda_k)^{l_k} \\ &= (\prod_{k=1}^{i-1} x_k^{n_k}) (x_i^{n_i} p_i) (\prod_{k=i+1}^N (qx_k)^{n_k}) \prod_k K_k^{m_k} (\xi_i \Lambda_k)^{l_k} \end{aligned}$$

Here, using the identity (52), we have

$$[\prod_k x_k^{n_k} K_k^{m_k} \Lambda_k^{l_k}] p_i = A + B + C,$$

where

$$\begin{aligned} A &= (\prod_{k=1}^{i-1} x_k^{n_k}) (p_i (q^2 x_i)^{n_i}) (\prod_{k=i+1}^N (qx_k)^{n_k}) \prod_k K_k^{m_k} (\xi_i \Lambda_k)^{l_k} \\ &= p_i (\prod_{k=1}^{i-1} (qx_k)^{n_k}) (p_i (q^2 x_i)^{n_i}) (\prod_{k=i+1}^N (qx_k)^{n_k}) \prod_k K_k^{m_k} (\xi_i \Lambda_k)^{l_k} \\ &= p_i V(qx_1, \dots, qx_{i-1}, q^2 x_i, qx_{i+1}, \dots, qx_N) \\ B &= (\prod_{k=1}^{i-1} x_k^{n_k}) (i\hbar q (\xi_i^2)^{n_i-1} [n_i]_{(\frac{q}{\xi_i})^2} \Lambda_i^2 x_i^{n_i-1}) (\prod_{k=i+1}^N (qx_k)^{n_k}) \prod_k K_k^{m_k} (\xi_i \Lambda_k)^{l_k} \\ &= i\hbar \Lambda_i^2 \frac{\partial}{\partial (\frac{q}{\xi_i})^2 x_i} V(\xi_1 x_1, \dots, \xi_{i-1} x_{i-1}, \xi_i^2 x_i, qx_{i+1}, \dots, qx_N), \\ C &= \lambda (\prod_{k=1}^{i-1} x_k^{n_k}) [n_i]_{q^2 x_i^{n_i-1}} \sum_{j=i+1}^N x_j p_j (\prod_{k=i+1}^N (qx_k)^{n_k}) \prod_k K_k^{m_k} (\xi_i \Lambda_k)^{l_k} \\ &= \lambda \sum_{j=i+1}^N x_j p_j \frac{\partial}{\partial q^2 x_i} V(x_1, \dots, x_{i-1}, x_i, qx_{i+1}, \dots, qx_N), \end{aligned}$$

which complete the derivation of eq.(53).

<sup>3</sup>Here the general potential is composed of the monomials with an arbitrary degree, so we only have to prove that eq.(53) holds for the general form of monomials only.



## References

- [1] J.Wess and B.Zumino, CERN-TH-5697/90 (1990).
- [2] I.Ya.Aref'eva and I.V.Volovich, Phys.Lett.B268 (1991) 179.
- [3] J.Schwenk and J.Wess, Phys.Lett.B291 (1992) 273.
- [4] J.Rembielinski and K.Smolinski, Mod.Phys.Lett.A8 (1993) 3335.
- [5] Yu.I.Manin, "Quantum groups and non-commutative geometry", Preprint Montreal University, CRM-1561 (1988); Commun.Math.Phys.123 (1989) 163.